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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.
This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.
In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-1.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.
An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

What is the name of the routes linking Asia with Europe and northern Africa?
(a) Asian routes (b) Silk routes
(c) Trade routes (d) Africa routes
OR
When did the exports of British cotton goods increased dramatically ?

(a) in the early 17" century (b) in the early 18 century

(c) in the early 19t century (d) in the early 20t century
OR

Who developed the priniciple of Garden city ?

(@) Thomas Hardy (b) Charles Dickens

() Charles Booth (d) Ebenezer Howard

People’s livelihoods and local economy of which one of the following was badly affected
by the disease named Rinderpest ?

(a) Asia (b) Europe
(c) Africa (d) South America
OR
Which of the following was not a problem of Indian weavers at the early 19th century?
(a) Shortage of raw material (b) Clashes with Gomasthas
(c) Collapse of Local and foreign market (d) Setting up of new factories.
OR
Who was the producer of the film “Raja Harish Chandra”.
(a) Dada Sahib Phalke (b) B. R. Chopra
(c) Dilip Kumar (d) Yash Chopra

What is calligraphy ?

(a) art of dancing (b) art of singing

(c) art of writing (d) None of the above
OR

Which Hindi novel by Prem Chand tells the story of Indian peasantry through the
characters of Hori and his wife Dhania ?

(a) Godan (b) Gaban
() Sewasadan (d) Rang bhoomi
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Which of the following statement is ture in the light of Vernacular Press Act 1878 ?
(a) It gave freedom to Vernacular press
(b) It gave financial assistance to Vernacular press

(c) It provided rights to government to censor reports & editorials in the Vernacular
press.

(d) None of the above

Who wrote Sultana’s Dream ?

(a) Rokeya Hossein (b) Prem Chand

(c) Srinivas Das (d) Bankim Chandra Chattopadhyay

Which one of the following is a Biotic Resource ?
(@) Land (b)
() Human beings (d)

Which one of the following belongs to Vulnerable species ?
(a) Black Buck (b) Crocodile
(¢) Indian rhino (d) Blue sheep

Which of the following river is not having any multipurpose river project ?
(a) Satluj Beas (b) Mahanadi

(¢) Narmada (d) Yamuna

Cultivation of coffee is confined to which of the following hills ?
(a) Nilgiri (b) Aravali
(c)  Shivalik (d) None of the above

Which two languages are generally spoken in Belgium ?

(a) French and English (b)  Dutch and English
(¢) French and Dutch (d) Dutch and Sinhala

1080706 - C1




Which one of the following is not a valid reason for power sharing ?
(a) for majoritarianism (b) being part and parcel of democracy

(c) to reduce tensions (d) for political stability

As per language policy of Indian Government, which one of the following statements
is true regarding the status of Hindi language ?

(a) Only Hindi is our National language

(b) Hindi is the official language

(c) Hindi has been accepted as the mother tongue of all the Indians
(d) None of the above

Which one of the following statements depicts Gandhiji’s views on religion and politics ?
(a) Politics should be guided by one religion only

(b) Religion should be ahead of politics

(c) Politics should be guided by ethics drawn from religion

(d) None of the above

By dividing the national income of a country by its total population, we get
(a) Per capita income (b) Gross Developement Product

(c) Human Development Index (d) None of the above

Which one of the following statement defines ‘Literacy Rate’.

(a) Total literate population divided by total population

(b) Total literate population divided by total illiterate population
(c) Proportion of literate population in the 18 and above age group

(d) It measures the proportion of literate population in the 7 and above age group

Which of the following is an activity of tertiary sector ?
(a) Banking (b) Dairy
(c) Transport (d) Communication

Which of the following is not an activity of unorganised sector ?
(a) teacher taking a class in Kendriya Vidyalaya

b) a nurse working in a Govt hospital

(
(c) afarmer irrigating his field
(

d) a clerk working in the post office
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PART - 1I

Write any three factors responsible for indentured labour migration from India. 3x1=3
OR

Mention the name of three Indian entrepreneurs and their individual contribution

during the ninteenth century 3x1=3
OR

Describe any three steps taken to clean up London in the 19th and 20t Century. 3x1=3

Write about the different innovations in the Printing technology during the 19th

Century? 3x1=3
OR

What kind of novels were written for young boys in the 19th century ? Explain 3x1=3

When did the first printing press come to India and write a brief story of its growth. 1+2=3
OR
Who wrote the novel ‘Pariksha Guru” and what was its theme ? 1+2=3

Write the name of any two women writers of India in 19t century and highligt the

contribution of any one who wrote about the different experiences of the women. 1+2=3
OR

Who wrote ‘Hard Times’? Explain the theme of this novel. 1+2=3

Describe any three types of soil available in India. 3x1=3
Explain the importance of biodiversity for human beings 3x1=3

Why is the conservation and management of water resources important ? Give any
three reasons. 3x1=3

Explain any two forms of power sharing in modern democracies. 1%2+1Y2=3
What are overlapping and cross cutting social differences ? Explain. 1%2+1%2=3

“Assertion of social diversities in a country need not be seen as a source of danger”. 3
Explain.

Explain the role of caste in Indian politics.
What is meant by National Development ? Give your own opinion.
What is sustainable Devolopment ? Explain.

Classify the following occupations under primary, secondary and tertiary activities.
1. Farmer 2. Fisherman

3. Cashier in Bank 4.  Truck Driver

5. Making a car 6.  Making of bricks

1080706 - C1




Mention any three differences between public sector and private sector. 3x1=3

Why 19th Century indenture has been described as a ‘new system of slavery’ ? Explain. 1
OR x1=

What was the impact of First World War on the Indian industries ? Explain. 4x1=4
OR

Why the population of London multiplied in the late 19t and early 20t Century ?

Explain. dx1=4

33. Describe any four features of Agriculture in India. 4x1=4

34. What is meant by decentralisation of powers ? Explain the importance of Local self
Government in the light of decentralisation. 1+3=3

Study the data given in the table and answer the following questions.
Workers in different sectors (in millions)

Sector Organised Sector | Unorganised Sector | Total
Primary 4 236 240
Secondary 12 55 67
Tertiary 24 75 99
Total 40 366 406

(1)  Which sector provides maximum number of jobs ?
(2) How many workers are working in the unorganised sector
(3)  Which organised sector is most important and why ?

36. Three features with serial number 1 to 3 are marked on the given political outline map
of India. Identify these features with the help of following information and write their
correct name on the line marked in the map : 3x1=3
1.  Soil type
2. Forest type
3.  Fibre crop
OR
Locate and label the following items with appropriate symbols on the same map :  3x1=3
(a) Tehri Dam
(b) Cotton producing state
() Manas Tiger Reserve

Note : The following question is for the visually impaired candidates only in lieu of 3x1=3
map Q. N. 36 :
36.1 On which river Sardar Sarovar Dam is being built ?
36.2 Name the Tiger reserve of Kerala.
36.3 Name the major producer state of cotton

-00o0-
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PART-1
TR 1 AT TR I STHTHT § SIS a1 HEH Rl fohg T8 | ST <71 © 2
(a) TRTEA AE (b) oo 9w (¥2)
(c) SR AN (d) STRIRT AT
reran
foles & 9@ IcUial o A H hd AeHE Jhg g 2
(a) 17 o Wl ® Y& H (b) 18 =i Wl wl Y&AW |
(c) 19 of Wal = Y& | (d) 20 df 9t * gEeTd |
reraT
‘e TRt &t SaYRon fRER TEqd i ?
(a) oTE e (b) =TeH fewg
() =cday d) TI=R g

et ms St & ffefad § @ fFa & @1 i SAsifas AR T steferasen
I THE TE
(a) Frm (b) R
(c) STHTHRI (d) = i
YT
19 of 9t & ey H freAfofad § @ #F IRd™ JF6d ol Iue 7@l off ?
(a) H= TS HI HH (b) T % WU TS
() T IR faceht aoR &1 fa@w /e (d) T wfagdl & o
AT

frem T wiTeg o1 fmTd e e
(a) TIT HRS Wk o1 3R, =TS
(c) fediu FaR ENECIRES]

‘gEEtEt’ fRe w1l § 2
(a) T Fol I Al
) TG HaA ITRE | F HIE T
rgrar
Yo & ford ST H B iR STt Tt af e & meay @ wRdE fREel @ el Sel
TR
(a) T
(c) e
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TR TT T 1878 &1 gfE ¥ Fr=afofad § @ =1 o1 wo 9 €2
(a) TH9 FIHS W T WAl YSH Hl
b) T TG UH hl E TSR USH hi

(
() TUH WHR H TP 9 § S Rl IR et &l 98- F3H *1 SAfIwR 9 gan
(d) SREH Y RE T

Jrrar
‘G €’ 61 G DT ol ?
(a) ke gEA (b) IHES
(c) Hiftem M (d) dfrTers TN

frefeaa § @ &9 @1 gy S g eE ¢ ® 2
(@) 9@ (b) @ (c) = E

o o

Frefefad § @ fha &1 gery gaa S 9 8 2

(a) e fexm (b) TRA=S ) e

frefofaa & @ & ot 7 Tgseeha 7 afEs @ gwig 72 @
(a) TGS =™ (b) WEMRl (c) e

frfofaa & @ foa weifedl @ w16 1 Gdl 1 Wt @
(a) I (b) SES! (c) Tererfes

Sfesam & ®F o < 9 s Siot S ®
(a) Td IR e (b) <= iR few
) =R ew d) =9 IR et

. Trefefad § 9 o1 91 %R |91 1 9rier) & fou 98t =i = 2

(a) gHEAER & for (b) PIHGA I ST I §
() T =M & fou (d) TS feoran & fou
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IR THR ot Ao Aifd F STER fe<t oo & gy # frefofen F 9 am @A g €
(a) I fet T Y W §

b) fo<l TAR TSI B

(
() Te<t &1 woft wReEt = STt AT WieR #R foa §
(d) SR H F FE T

frfefad woml 7 9 =F 91 ®oq od 3R ToHifd & ey | il st o fa=m gefiia s

TeHifa e od 9 3Ra 8 =nfen

o} Y I W U85S T Afey

Terifa ud gr wenfud gedi 9 Féfer gt =few
IR § 9 FiE Tal

et 29 1 T 1 ) SHS! o ST ¥ 9 3 W e ® @ @ ym S R2
(a) fd =l s (b) HHS TG IR
(c) M4 fashre Foehich (d) ST H 9w TRl

frefofad 8 @ S o1 we FIeRd < S aReafud ¥ 82
(a) T FIER SUSA ol F& TS § TR HLA
b) FO HER TAHEA hl & MER SIS § 91T HTT

(
(c) 18 T IR 3IUY Uk 3 & BN H &R SHUEAT 1 T
(d) 7 T4 3R ITH Al g & BRI H W TTHEAT 1 STIIM

freAfelad & 4 = & nfafafa gdas o w1 & 2
(a) iRt (b) =T (c) @

frefofaa § 9 &9 @ fafast  sTgTfed & & § ?
(a) w<ta foenea | gem tw fuaes

(b) WTEHRI TS H HM HI TH T4

(c) T ©d = f9aE w3l T fohde

(d) =M R H FM F T Fooh
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PART -11

@ AT H1 IR ¥ 9H & fou SWErt fF=l T FRH1 &1 38Q Hifed |
3gAT
19 of Tt & N IR UM &% A TS STk SATHITA ANTEH 1 3eeid i |
AUAT
19 & 3R 20 off I H F<F H WH-YE M & ST I3 T fF=f A weHl w1 FuH
HIA |

19 = WT % SRH ZU1 ThATh § gU T TREHR & 9 § T 1 S &- 949 § 9o
HIfT |

YT
19 of 9t # gansti & fou fvd TR & 3T fow MU ? =ame S |

IRA H Ut T 9 e oTE IR 38k fosma =t wivm & fofan
arerar
ST TeT T T SE DA o1 97 ST H&F T Y A odi W SR e ® ?

19 o 9t it forzi < Afewt S@ehi o W fofan td f&=l T & INEH 1 IR HifS
=i afeersii & THvEl ®1 ST SEF &1 fawe s |

3UAT
‘T T H WA fREA Y ? 39 3T & fawg 9% i e iy |

IRA | S S a7 fohegl diF YR &1 FRIST 1 F0H HITST

e % fou s fafaydr & a1 =aren ST |

S HETEAT T G0 IR Yo A A9 € 2 g i SR fofay | 3x1=3
YT Srehaireh SFaeenet § w1 WEeR! & fhwl 91 T 1 Sre Hif | 12 +11>=3

Teft gt W forat gt TS fafiemand =i €2 o w7 1%4+1Y5=3
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Yot 29 H gmTfSes fafieareT W SR 21 i 91 i BUYT Wl A T8l 9ol 9ney’

39 3fFd &1 AT HifeT |

IR TSI § Sfd 1 e i T8 ST |
TS o =1 = erfyurg B 2 o1 famm fofad

foerm =1 uroiterar 9 == 19 § 2 =8 wifsd |

o o

Fefeiad el & mafbs, fgdes iR gdas &l § arfied ST |
1. feam 2. HIS oA 3. SeEwdt
4. TH doH 5. &R frmm 6. 3 SAT

qresite &5k AR =1 &5k § 18 a9 o= fofau

ST At i ST Y AT i T T AT 1 A9 FAl A1 T 7 T Hifog |

Iterar
19 ot 9l o 71 q21 20 of |al o URF H &< ot oTerel § ghg oSl 9 =i g8 7 T8
HIfSTT |

IRd H Y &1 fordl 9R fomwarsti &1 avie sifs |

SIFhal o Taeheheur 1 3T 31ef § ? T A & Wecd ! faeh= 1ol i gfY 9 T8
IS |

Tqfewt | fou emehe! 1 Te7aa wifay 3R ereifolad g & S| i

3ECD ifed &ofk | STHTfSd & | o
EIRIEED 4 236
IFGIRED 12 55 67
GRIRED 24 75 99

E3Y 40 366 406

1. I |1 &5 fUwdH YSHR 9SH L W@ 8 2
2. fod gfys srnfed &5 & FH W@ R?
3. o W Eid &5 el iy Heed &1 § IR i ?
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36.

9IRA % feU gu TsHifaes W@ AEfes R %uiE 1§ 3 d& 3g fafed 81 9 T g9 6
YR I 37 BRI bl TeaHh 2R S Wl AW AFtas # fafed Y@ = fofau : 3x1=3

1. T3 &I TR
2. oA W YRR
3. UWRR w9

YT
feu gu AHf W & 3w fo=i g fAfafea & gwise &R 37 W fafay -
(1) feedt&H
(2) +UE *1 Th F&HA IAH T
(3) =g o e
e ; Frafetad uoa Fae gfy anfia udtenfelal o fou o 9@ 3y & W W E
36.1 TER TR 40 e 98 W1 @ E 3x1=3

36.2 HI@ & o Rerd =1 AW fofau |
36.3 UM % A ek T3 1 94 fefan |
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Scale : 1:24,000,000

‘(1ecm =

240 kms) approx.

Based upon Sarvey of India map with the permission of the Surveyor General of India.
The territorial waters of India extend into the sea to a distance of twelve nautical miles measured from the appropriate base line.
Respansibility for the correctness of the Internal detalls rests with the Publishers.

The External Boundary and Coast-line of India shown on this map agree with the record copy approvad by The Survey of India. Dehra Dun.
Haryana ad Punjab are at Chandigarh.

The interstate Bih: and Madhya

have not been verified by m- Gnvamm-m concerned.
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